~ 48 = Y7

*BA# B (K, 230) liiEAMAA [SEEL o, [SZzt

B% H4X EM | Hiis AR STEM]  mis BE
BHHN 1% =i 5kg 5= kg 700 EE
BHHN 8E =i 5kg 5= kg 650 EE
BHHN 102 =i 5kg i kg 600 EE
= g A 8E FE 5kg i kg 650 EE
g A 102 FE 5kg i kg 600 EE
7o 8/12F8 =i 5kg i kg 900 EE
Y 8/9kg dtiEE 1A #a kg | 1,000 ML &
7Y 2E S 10/13kg i kg 800 4
hyA 3kg =474 1A b kg | 1,700 | #) REH @i dLiEE-FHH
hu#A 4kg =474 1A & kg | 2,150 | &4 AEF B dbiEE-FHR
Hhy# 3kg SAWLA 1A 5= kg | 1,600 AR EiE =REILED
hy# 4kg SAWLA 1A 5= kg | 1,600 8 B = REALED
AXF 2/3E B 4/6kg b kg | 1,900 TBE
A3 A SkgHa BRE 1A & kg | 1,700 #
VAP 3/4kg =874 1A ) kg | 2,400 TE Ef
$I5 2R =874 4/5kg & kg | 2,200 TE BEH
< B 4R GiEdE 5/5.5kg & kg | 2,600 # BBE
£ B 5 EEdr 5/5.5kg 5B kg | 2,500 # i5F
AU IRF 1.5/2kg il 1A 5 kg | 2,700 FiE
B 2kg RS 1A 8 kg | 1,800 8 FEX
=N 2E RS 3/4kg i kg | 1,700 8 FEX
EH 1.5/2kg R 1A i kg | 2,600 FE FEX
EFYINE BiR 500g 7 P | 2200
M7 102 FEE P P | 1,200
BE7 102 BHE 1kg P P | 3,500
ELBT KR 100g P P 500
ryFH #3300g tiEE & kg | 1,600
ap) et av7y 100g #a # | 2,500
eyl L5 dbiEiE | 100gHfis g kg | 4,600
L VANE:! 20/40g =8 kg kg | 1,900
=PA% 8] 50g 518 kg kg | 2,200
=PAEE! 30/40g o & kg | 2,700
4T 100/130g it o} & kg | 2,600
4T 150/180g it o} & kg | 2,700
YT 200/250g g o} & kg | 2,800
YT 250/300g FE & kg | 3,400
HHT 300/400g FE & kg | 3,500
YT 400/500¢g FE & kg | 3,600
YT 500/600g FE & kg | 3,600
IEYHT 20/30g i1 m] & kg | 3,200
EHYT 30/40g 1=} & kg | 3,200
EHHT 40/50g if]m] 1 kg | 2,800
EHYT 50/60g e & kg | 2,700




